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Type of the process Characterization References 

Stationary press 
56, 57, 58, 64, 65 Vulcanisation of rubber 

composition on the working 
surface of CB 

Portable press 

54, 55, 59, 60, 61, 62, 63 

Self-curing 68, 71 

Thermo- or UV curing 
69 

Two components 
70, 72, 73, 76 

Sticking of vulcanized rubber on 
the damaged surface of CB 

 

Sticking rubber without 
adhezives 

74, 75 

Polyurethane compositions 77, 78, 79 

Liquid rubber 80, 81, 82, 83 

Filling of the damaged place or 
belt ends 

 

Chloroprenes 84 

Joining of ends of conveyor belts Vulcanization presses 53, 54, 55 
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